S =ML
Hal: GHSYDN (P 2S/BY2SU)
ool dEe (B9 &)
_ _ _ Muo
SA-BH.C(BH) - HRAY - B Ofl &t o il i~ o Rz
=ME D 11,013,061 7,976,407 3,036,654
= 1,981,400
| 36,000
& 657,576
Al 8,338,085
N EE BT (HYLS /BB YY) 1,139,080 146,280 992,800
= 500,000
= 250,000
Al 389,080
ds P el 1,139,080 146,280 992,800
= 500,000
= 250,000
Al 389,080
HSATAIEH 125,060 122,260 2,800
101 Q1214 40,800 40,800 0
04 JI2H22TS B4 40,800 40,800 0
OMEHDRIOFYAIZ (DA ZALY) ol el
3,400,000% = 1204 SIS 40,800
201 Y2 Y| 19,860 13,500 6,360
01 ALR eIt 19,860 13,500 6,360
osZYA M 3,000,0009 * 14! 3,000
OBARHN2SRS 319 HFaLY
70,0008 * 7% * 23] 980
OXNZAMI2SY NS 5o F&2Y
70,0008 * 20% * 23] 2,800
OBABYEIL S2H 10,000,000 * 14 10,000
OSATYITIIAR 4
70,0008 * 102 * 23 * 12 1,400
OBAUHAL HEEINY =5
70,0008 * 6% * 43l 1,680
203 R = H| 3,000 3,000 0
03 Al =R R =X Y| 3,000 3,000 0
O=Ms2] 25 3,000,008 * 14 3,000
303 ZalZ 1,400 1,400 0
01 Z&3 1,400 1,400 0
OSHE SBBFUIEI AN 1,400
—z2x 500,0008 * 294 £ 1,000
-z 200,0008 * 244 400
401 A2 HIL ST 60,000 63,000 A3,000
01 Al bl 60,000 63,000 3,000
OSHE SBFHIWIL AL 60,000
—zex 20,000,008 * 244 40,000
= 10,000,0008 * 244 20,000
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SN ST
M NS EN(HFES/8BESAE
chelr ZEF zte] CEREE
SA - HE . CR(B]H) - NBEAIY - HA2 Al OH &EIE Ho=2t
- = o7\ 2 ° - (= S = =5 0:”/|l|,% Lsa
TSt A AL 14,020 24,020 210,000
201 B2 | 4,000 4,000 0
03 A2 HHI 4,000 4,000 0
Ostgdoy JIgadA * 14 2,000
Os9yY Jlgad * 14 2,000
301 B2 &= 5,020 5,020 0
10 HAIAHIE &2 5,020 5,020 0
OXLoH218 AF ZHA X 048I
70,000 * 44 1,120
OstZdA & - Sz AW
70,0003 * 20¥ = 13 1,400
OEEHHA * 23] 2,500
307 2I2tol ™ 5,000 15,000 210,000
04 QIRHHALE X 5,000 15,000 A 10,000
OJI=dsttie 1 HERID A&AMS
5,000,000& * 12| 5,000
MEXNIABHAIE(2) 1,000,000 0 1,000,000
= 500,000
& 250,000
Al 250,000
207 A 2OH | 20,000 0 20,000
01 A1 E | 20,000 0 20,000
OHdEN2=R J|I=2
20,000,000& * 14 20,000
401 AlEHIZ 2 OHYI 980,000 0 980,000
= 500,000
L= 250,000
Al 230,000
01 Al &l 973,826 0 973,826
OuME2tEd AHE
980,000,000& * 141 = 99.37/100 973,826
= 500,000
& 250,000
Al 223,826
03 AI& 2 0HHI 6,174 0 6,174
OME 2t=d AHE
980,000,000& * 14! * 0.63/100 6,174
gzl (B#FZES/UII) 397,538 128,736 268,802
= 128,200
| 36,000
& 66,100
167,238
CHol etad x4y 352,568 84,786 267,782
= 128,200




SN mME A
2 ol (#Z2S/01)

ool D) 8E xS (ol &2
A -3 -H2A(SH) - HEAMY - BES Of &F 2K glggi; Hlns2t
J| 36,000
< 66,100
Al 122,268
gz 2z 51,368 66,940 A15,572
201 L2 A 33,188 33,060 128
01 At 22l 11,350 10,950 400
OXNSIHISItA =2 H= 900
-s= 150,000 * 3% 450
—5t= 150,000 * 3 450
OSEXNCZEHE 22 Rol2 ME
200,000 * 38 600
O, 22 ASTE HHELA NCEHAE 8
ol 50,000 * 108 500
O, +2s QA=Y 22E Y 2,510
— 00104 BH X 70,0008 * 3etA 210
—CO/HCZ E 100,000 * 28fA 200
—HICI23t0iet(EI0I =, 15+ KI)
200,000 * 18tA 200
—AHXAZSHE X 100,000 * 18fA 100
—otF A2 EXT QI 30,0008 x 308FA 900
—HiEAA AEMF 2172
3,0002 * 3008t A 900
OlEgA s3Cs SFIIE MR Q15
7002 * 200% 140
OJI&HaHE 24 1,000,0002 * 23] 2,000
OBAHIOER E2H 1,000,0002 * 43 4,000
OilEA XTSs JA QI2tol 44
70,0008 * 1% = 108 700
R =229l 21,838 22,110 A2T2
OUIINZ S R (96E3595,ZS8SE,2R)
Sl 1,6002 * 1002 = 12& 2,028
OuJI,+&S SHIH Rl 1,800
— A =Z I 200,000 * 15 200
—CO/HCE & D 100,000 * 15 100
—AS=3x)| 200,0008 * 15 200
—CHIIAI 2 RHF DI 300,000 * 15 300
—HICI 3t 2t 200,0008 » 1 200
—PH=H D 300,000 * 15 300
—olA S 200,000 = 15 200
OS5y 300,000 = 15 300
OUIIS NTHEFY HAb 242 970
—CO/HCE & DI 100,000 * 1CH 100
—H, ASEHD| 100,0009 * 2CH 200
—2S A2 HF F 600,000 * 1CH 600
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SN

=52 ]

T OB (222 /0))
&2 o #E x4 (ctel: &
SN HB SR (BIH) - A - B S 0l &b S D=2
- e ° T EEREES = 04”:"% ree
—HICI23t0 et 70,000& * 1CH 70
OILEANsEEL =X
6,000,000& * 14l 6,000
OoIENss3d 2&& 40,0008 ~ 128 480
OIS NsSE=EE StR=
400,000 * 128 4,800
OmlegNSEY MIIE
230,000& = 12& 2,760
OWIISENSEYYYEAN 248
3,000,000& 14 3,000
202 44| 1,680 1,680 0
01 =2 A bl 1,680 1,680 0
s Aol 1,680
—tHEdA ESNEES (I, =2 8)
70,0003 * 4 * 33 840
—HIEYA ARBALIZI(CO,2E S)
70,0003 » 1 » 128 840
301 et a3 500 16,200 A 15,700
12 J|Et2 43 500 15,500 A 15,000
Ostdgd sl a3z 100,000 * 5A 500
307 21Ztol 16,000 16,000 0
05 BIZtRIEZ 16,000 16,000 0
OUIISENESTY 229l
16,000,000& * 1A 16,000
IIZHSIHSAISE () 212,000 13,846 198, 154
= 106,000
= 53,000
Al 53,000
301 et a3 12,000 13,846 A 1,846
= 6,000
= 3,000
Al 3,000
12 J|Et2 43 12,000 13,846 A 1,846
OBAZQEN QHEE K=
1,200& * 10,000AlI CH 12,000
= 6,000
= 3,000
Al 3,000
401 A& HIZ 20| 200,000 0 200,000
= 100,000
= 50,000
Al 50,000
01 A& HI 198,560 0 198,560
OJlsEsNg BEUS SM=3
200,000,000 * 99.28/100 198,560
= 100,000
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SN SsER D

B DIQE R (BT LS/U)
&2 o #E x4 (ctel: &
_ _ Muo
SNBSS - HRAY - BHES Abod il ot o 2
& 50,000
Al 48,560
03 AI& 2 0HHI 1,440 0 1,440
OJI=HHRES S8H=E Sais=s3t
200,000,000& = 0.72/100 1,440
S OIEH2IXIR(2) 49,200 0 49,200
= 22,200
& 11,100
Al 15,900
403 XX S K201 M 49,200 0 49,200
= 22,200
& 11,100
Al 15,900
02 | 2SI CHStOH & AL I 49,200 0 49,200
O&dIOIEX eIl XIg 1,329,720& * 37= 49,200
= 22,200
& 11,100
Al 15,900
Admiol 2H20 XAS(=) 40,000 0 40,000
| 36,000
= 2,000
Al 2,000
301 et a3 40,000 0 40,000
J| 36,000
& 2,000
Al 2,000
01 At 2E X =6ll3 40,000 0 40,000
OLHELSE & =232 2,020,000& » 5bH 10,100
J| 9,090
& 505
Al 505
OMPIHE Q9 ME4g
22,900& » 4H « 123 29,900
Il 26,910
& 1,495
Al 1,495
BN RES 44,970 43,950 1,020
SN REs FUE S 44,970 43,950 1,020
101 el24d| 12,020 12,600 A580
04 JI12HHZ22NSEs 12,020 12,600 A580
OSstBMNEREZ 2UUHY ANE2 AL 12,020
—Jla=z 36,6403 » 4% » 358 * 23| 10,260
—F5=g 36,6403 *« 4F » 5 « 23] 1,466
—E =g 36,640 * 4B x 1 * 23] 294
201 L Et2FH| 32,950 31,350 1,600
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SN mME A
M go|eE B (#E 25/
Sl BANLRLS (25l &2
_ _ _ N E
SA-EFH - SA(SAH) - MREAY - BES Off &F K ‘Oﬁ,‘\jg‘; Hws2
01 AtR2t2IH] 600 600 0
OBIWLLLS B2 S22 X 600
S -PI= 60,0002 * 5)H4 * 23] 600
02 B2 32,350 30,750 1,600
OBIWHLLYS 2T 30,750
—DXN QM L ESY R3(FIIR)
2502l * 25,00021 * 23| 12,500
—DXN UM L RBEY RI(SE2)
2502 * 7,50021 * 23l 3,750
—DXN UM L LESY 2Y(PHCE)
2502l * 26,00021 * 23| 13,000
—oHHE oIy 5020 * 30,0000 1,500
OBEWLLLYD MUK £42
802! * 20,0001 1,600
OS2 (HALS/HIIZ) 4,612,778 5,190,125 ABT7,347
= 19,400
= 22,000
Al 4,571,378
HOIZJIEtAIE 22 527,540 931,799 A404,259
A E RS SEIE X 76,428 71,202 5,136
201 YEr2gy| 69,628 64,492 5,136
01 At 22| H] 34,280 34,280 0
O&B4HMeIAL 22l 1,000,008 * 4042 4,000
OFB4HIT YB+ +TAM
90,0002 * 43| * 144 3,600
OFAB4HIT B4 £ZAM
90,0002 * 43| * 444 14,400
OFE2HUF Xots +EAA
180,000 * 43| * 9IH4 6,480
OEE =¥ EYRAUT AAS(IIA)
600,002 * 13| * 84 4,800
OHJIZ BEAA 48 50,0008 * 10042 500
OFE4+HIZ 22N M= 7Y
100,0009! * 2% * 23] 400
OFB4+HeIZ 22X 24Hst 7Y
50,0002 * 2% « 13 100
2yl 35,348
OANBSERMAIINEE ®IIAMBR
500,008 * 4044 * 128 24,000
OHB4HR(OIX)A+EABR
30,0009 * 122 360
OB+ H2IZ(0IX) Z2IAN 2LH(S])
1,202 * 4004 * 6% 3,096
o2 RN 92,0002 * 1CH 7
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A s

o HIISLS(BBRS/HIIS)
Sl HOIZIIBtAlE el (9l &2
_ _ HE T
SH-EH . C(BH) - NRAY - BES Off &F oA il b o bRz
OB+ H2IAE(0HX) X 22 (220, &
32, 3y D 5) 6.000,0002 * 1Al 6.000
OOINS HE4H2IE YHALY SHMER
150,009 * 128 1,800
206 T2 8| 6,800 6.800 0
01 T2 bl 6,800 6.800 0
OZ&E L HBA 7Y 500,0002! * 431 2,000
Os4Hl ABERY
100,0002 * 4% + 122 4,800
HEZFE FHIAY 451,112 401,260 49,852
201 YBr2 | 1,260 1,260 0
01 At 22| 1,260 1,260 0
OJI328MANS HELT
70,0008 * 6% * 33l 1,260
702 )I3HE3 449,852 0 449,852
01012853 449,852 0 449,852
OMEFHNY FUANAIS 853 449,852
— XM ESHS 400,000,002 * 144 400,000
—FHEE MHDIZ BN 10/100(HSZ
SRR GESED) 464,000,002 * 10/100 46,400
—HUE HIIZH2+4E2 10/100(HEZ
2l Rl6Z28t) 34,513,0802 * 10/100 3,452
83| X2l 4,064,288 4,243,364 ~179,076
2 19,400
= 22,000
Al 4,022,888
WES S8y 2o 2 WEESETAMY 100,700 104, 130 3,430
201 Yer2 | 11,800 9,520 2,280
01 AtR 22l 11,800 3,600 8,200
OBzl I o HESSH 49 H
=t 60,0008 * 5} 300
OHEZS, HAMK, HOIGNES Hol 22
RI =t 500 * 3,000 1,500
OHAER 471 ABIAIY 22 U QIME|
E) 10,000,0008 * 14} 10,000
301 B A3 300 300 0
12 B2 a3 300 300 0
O15182 A87K 42 30,0008 * 10 300
307 QI2H0I & 8,600 3,600 5,000
02 DIt AR E 8,600 3,600 5,000
OZDEE LI=ZE 2% 3,600,008 * 14 3,600
OHAZR 47 ¥ UMY 29
5,000,008 * 14! 5,000
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CHOISZE(EHEES/HIIE)
M Hel

BSA - MG (B H) - MEBAIY - BAH2 Al OH &EIE Hm=2
BN B O - HSAY - B2 Sh Of] &F o8 e
401 AIEHIZ 2 0HYI 80,000 0 80,000
01 Al &HI 80,000 0 80,000
OHAES =M1 ¥ XJFAE =HEI| &X
200,000& * 4004 80,000
MYIISEEIEHS 8,430 8,430 0
201 82| 7,930 7,930 0
01 At22t2ldl 1,900 1,900 0
oMl &I 28 22 A%
250,000& * 43| 1,000
OMED| €7 2E DB M
150,000& * 43| 600
oMgol &I 28 9 M
60,000& * 53| 300
02 S=32gH| 6,030 6,030 0
O=2YED| ZAIItH & AIEZ
40,0003 = 208 = 12& 960
OS2 EI| ZAI3t0H2 ML=
20,000& * 208 = 12& 480
O2YED| ZAI3HHH B2
120,000& * 12& 1,440
O=8ED| ZAI3t0 et OBl S
300,000& * 2CH = 33| 1,800
O=8EI| Z2A3t0 2 3l& OlXEIE
25,000& = 2CH * 32l 150
O=HYED| ZAI2t02t |XIH]
100,000& = 12& 1,200
301 etEAZ 500 500 0
12 J|EtE A2 500 500 0
OMADISYED| Al EAS
50,000& * 10 500
HAZEH| 2tel 222,752 221,304 1,448
201 82| 201,008 182,060 18,948
01 At22t2ldl 1,200 1,200 0
Oo1l=tl 1,200
—HURAN 22X OHE 3
50,000& » 8Y 13 400
—HYRN 220 HY=
100,000& * 8F = 13| 800
02 &322l 199,808 180,860 18,948
O# A~ EHI= X I 2,480
—0lF I 1,000,000& * 2CH 2,000
—&HAXE €0 HA 60,0003 * 404 = 23] 480
O&ALX & KXY 197,328
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A S5
CHOISZE(BIES/HOIZ)

I‘I iH

cHelr M| Hel EERE
_ SIEN
SH-EFHHA(FA) - NIRAE - BES 01l A+oH 'oﬂ/'\_WH Hons2
—82{9463(HE 312, HAX, 2R)
1,69021 * 600 £ * 122 12,168
—82H9431(LHEBIE, BAX, 2R)
1,69020 300 £ * 128 6,084
—96X0006(HE 32, AE+HX, ER)
1,6902 * 400 £ * 128 8,112
—82U43365(ZSIE, THX, 2R)
1,60020 * 2004 * 10" 4,056
—82HO579(EEIE, LHADHAR, 2R)
1,690020 * 1,300 £ * 122 26,364
—6FNR(ZHSIES, WEELD, TR)
1,6902 * 400 £ * 128 8,112
— A FLH5990(EHI0l, Jt&l)
1,8602 * 504 * 128 1,116
—AEO724(LEHI0, JI&)
1,86020 * 504 * 128 1,116
—96F9103(HE E4512, SASMYI|4N)
1,60020 * 1,100 £ * 122 22,308
—96X010B(HEHSE45I2, SASMYI(2H)
1,6002 * 1,100 £ * 128 22,308
—6X021 (HEES52, SASMY %K)
1,6902 * 1,100 £ * 128 22,308
—06Z9523(HE E4512, SASMYI|4HN)
1,60020 * 1,100 £ * 122 22,308
—8758336(LHEI2 JISHAR)
169021 * 2004 * 12 4,056
—99X9104(EHE4512, BIINEI)
1,6902 * 400 £ * 128 8,112
—SASMY I AT 22 S(1202)
200,0002! * 120} * 122 28,800
206 T 2 HI 21,744 21,744 0
01 2| 21,744 21,744 0
OLMEBZHAT R 2 16,500
—29p4 300,0002! * 251 7,500
—AOIE =24 150,00080 * 607 9,000
OsA0sY HAETT 4,044
— &t 10,0002 * 42} 420
—PPILH 3002 * 2,00004 600
—yxz 6,0002 * 4204 * 83l 2,016
—JIEH( MY 0l S) 2,0002 * 422 * 122 1,008
OMZ Bl4M2IALE DEH 7
300,0002! * 43| 1,200
M J|QE Ml (ME L SAS) 3,345,381 3,401,610 A56,229
101 @1 24H| 13,191 12,600 591
04 JIH2RRES % 13,191 12,600 591
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SN SMERD
B HISU(BALS/HIIS)

el MED He (e @8
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
OSASMYIILTRI| HE
36,6402 * 45 * 902 3,191
201 L2 Y| 4,490 17,310 ~12,820
01 ALR 2l 1,250 1,250 0
OSASMYI| 22+H 222 HA
502 + 25,000AICH * 13l 1,250
02 ZZ2H| 3,240 16,060 A 12,820
OMEBEX 2SS DEEE SH44E
9,000% * 20 108l * 128 2,160
OHIISHELHAE HIIQ
5,0002 * 18744 * 122 1,080
206 T & 38, 100 38, 100 0
01 T2 bl 38, 100 38, 100 0
SHHM L AH 50,0008 * 605 3,000
SHZHIISR SALTBI 7Y
39,0008 * 9007 35, 100
207 &1 Rl 8,000 16,000 8,000
01 eS| 8,000 16,000 8,000
OSAZHIIS +WSUHHEE ANTA BY
8,000,0002 * 14! 8,000
307 212H0| ® 3,101,600 3,077,600 24,000
05 BI2HeIEr 2 3,101,600 3,077,600 24,000
O3S U G=Fe FLHYE 1,932,600
—ZEXEEY 2,802 * 16,000MICh * 128 537,600
—CSFe 37508 + 31,000MCH + 122 1,395,000
OSASAYI| SHLH2l A2 1,164,000
—2u 23,0008 * 12,000 276,000
—xel 74,0008 * 12,000 888,000
OYXIHIIS AT (SHO0IE S)
1,000,008 * 55 5,000
401 A B L 2T 180,000 240,000 60,000
01 Al& bl 179,136 239,550 160,414
OSASMYI| HaZ 81X AN
120,000,001 * 141 * 4.31/100 5,172
OSAZAYI| Ham 81
120,000,0008 * 14! * 94.97/100 113,964
OHIISHELH MelAL &X
15,000,002 * 47H 60,000
03 Al& S CHH| 864 450 414
OSASMYI| Hata L1
120,000,0002! * 141 * 0.72/100 864
LMD ERHEE el 134,725 136,610 A1,885
201 L2 Y| 3,460 3,460 0
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SA =ME)
M HISA(BHALS/HIIS)

Shel: Myl wel (ctol: @
_ _ _ Muo
SA B G(E) - NEAY - B O & o4 i HREZ
01 At 22l 3,460 3,460 0
OHJIEHM2IZ M=A(HE) 5008 = 5 00004 2,500
OMEDIZSE ALE S22 N
60,0002 * 43| * 4044 960
206 i 2 8l 108,000 108,000 0
01 MZ 108,000 108,000 0
OMEDIIZZR =25 M= 802 + 1,350,0000H 108,000
307 BI2+0I & 22,765 24,650 A 1,885
05 BI2t9lEt2 22,765 24,650 A 1,885
OMHDIZESE Blj22E
455,300,0002 * 5% 22,765
802 BHE 2| Et 500 500 0
03 HRLBS 500 500 0
OZZH 25 42 &2 10,0002 * 503 500
SEANLIZE HIISHEEAS NA(E) 66,700 66,700 0
= 20,000
Al 46,700
301 YprE AR 66,700 66,700 0
= 20,000
Al 46,700
12 JlEtR A2 66,700 66,700 0
OSZUN2URE HUY 242X
667,000kg * 1002 66,700
= 20,000
Al 46,700
WEES2IZA2 NA(T) 6,700 6,700 0
= 2,000
Al 4,700
301 et AR 6,700 6,700 0
< 2,000
Al 4,700
2JIE2 a2 6,700 6,700 0
OMBEE +Z2ASNS(HR2Y ot
SEHESEIEE) 167,5008 * 402 6,700
= 2,000
Al 4,700
MESELTLASIXB 159,500 159,500 0
301 YprE AR 159,500 159,500 0
2JERa3 159,500 159,500 0
OHRE=HSAZ 159,500
—HHlL 10020 * 1,300,000ke 130,000
—HRelY 302 * 100,000kg 3,000
~HE2tAE 202! * 50,000kg 1,000
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A s

I 22 (BARS/HIIL)
Sl Dl K2l (S5 &)
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
— X 142 = 100,000kg 1,400
~-2 192! * 500,000kg 9,500
—2H 2421 * 200,000kg 4,800
—sopig (RelY) 1502 * 12,000kg 1,800
—soteig(Z2tAE) 8002 * 10,000kg 8,000
SEHHIE M2 X (2) 19,400 0 19,400
= 19,400
301 YBrE4 19,400 0 19,400
= 19,400
12 JIEH2 42 19,400 0 19,400
SEHHILSEHSAZ 1002 « 194,000ke 19,400
= 19,400
21038 2 20,950 14,962 5,968
EEE TR 20,950 14,962 5,988
201 YEr2gy| 13,100 11,612 1,488
01 AtR 22l 4,420 3,160 1,260
OMEEHIIS +H, A2 HZRO
4020 * 2,50004 * 103 1,000
OF0IEA ARA XL
500,008 * 192 500
OZ0ISY APA HASE U ADHSED
o 100,0002! * 43l 400
OO 22 T2 KAL)
1,000,0002 * 14 1,000
O=F0I52 &2 920
~EE 150,008 + 4% 600
—s4o 60,0002 * 23] 120
Oy 50,0002 * 4% 200
OFOISHR ALRA F4D| A
50,0009 * 122 600
02 T2 8,680 8,452 228
OO ARA L NIAIE ®IIQ3
300,009 * 122 3,600
OZ0ISY ASA HBE HA2
10,0002 + 12 100
OO ARA A4+E, Kot ABE
8002 * 120m * 128 1,152
OIS IDX YHAASHAS
150,008 * 12% 1,800
022 HBHI(HYE)
1,690%0 * 2004 * 4% 1,35
OO ARA ARY 24 22 A2
bl 1,600 * 1000 48 676
301 YEE A3 7,850 3,350 4,500
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SN
X XH .
S Tt

oLk

_ _ pSNE e
M- EH . S2(EI) - MISAY - BAS Ao Gil it o Hn=2
10 #ANAIHI 2 5,850 2,850 3,000
O=Z0| A TIEHI (S H B )
50,0002 * 532 * 13l 2,650
o= 20| | X BLHS bl (SR o,
HH < Xt 400,000 * 82 * 13l 3,200
12 JIEH2 A 2,000 500 1,500
o= 20| X RS
500,0002 * 42 2,000
He 2el(edes/ +3) 2,168,360 182,836 1,985,524
2 1,320,000
= 311,136
Al 537,224
zel 2,168,360 182,836 1,985,524
2 1,320,000
= 311,136
Al 537,224
24+FSE 22 45,105 26,855 18,250
201 Y2y 36,270 18,020 18,250
01 AR 22 11,370 13,120 A1,750
Oz L PR BRE NE
409 * 4,008 * 25 320
OFsx A IR
1002 * 5,00004 500
ozsst 6.000
-Z=3 g3 ne
0,008 * 10JH4 * 122 6.000
ozsst o 4y
70,0002 * 102 * 43l 2,800
OO0HSLt s 2ol 1,750
~ZEaFY 25 E2NE
5002 * 5005 * 15 250
—ZESTA B ASTY
500,0002 * 37H 4 1,500
2 BB2Y 24,900 4,900 20,000
OFsx REEMEES
200,0002 * 122 2,400
ozss 500,0002 * 4074 20,000
Ost =3t H (ZEst ey Hi15x
2) 500,0002 * 144 500
Oxtol KXl 22H|
500,0002 * 25 * 23l 2,000
202 01 Hl 3.360 3.360 0
01 2UHOIH| 3,360 3,360 0
OR4eHM2IAIE YBS 2HAM 23
70,0002 * 12 * 483] 3.360
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SN =AE D
HE: Q- Hl4 Hel(BARS/MOAE - 2E)
29 ~dadl (e
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2
307 2I12H0| 5,475 5,475 0
05 QIR 913 5,475 5,475 0
ORL4+HUHBAN W42
1502 * 100 * 3652 5,475
IR L=Y- R 152,716 5,981 146,735
101 2121t 916 875 41
VPR EEP TP 916 875 41
OBZ2EA DY 2
36,6401 * 5% * 52 916
201 Yere gt 1,800 2,106 A306
01 At 22|t 1,800 1,100 700
OHZSAD UM XS S2TY=S
200,008 * 4% 800
OBZQHAD +&HIAX 500,008 * 23] 1,000
207 oKL bl 150,000 0 150,000
01 1B | 150,000 0 50,000
OYFAl IIEAS MBS NYEEH HSE
150,000,0008! + 141 150,000
DESHTAWLAIY(E) 210,000 150,000 60,000
= 63,000
Al 147,000
401 A& HIZL 2 CH Y| 210,000 150,000 60,000
= 63,000
Al 147,000
01 Al&t| 208, 110 148,380 59,730
OBBSHTUNLAL
70,000,00021 * 394 * 141 = 99.1/100 208, 110
= 63,000
Al 145,110
03 Al& 2 THbI 1,890 1,620 270
OBBHTANLAL
70,000,002 * 3 * 141 * 0.9/100 1,890
mHex e 2,900 0 2,900
201 YEr2gy| 900 0 900
01 At 22|t 900 0 900
OAZT2 T=Y| 900
—xeyz 200,0002! * 3% 600
—xeiat 10,0008 + 3% 300
206 T2t 2,000 0 2,000
01 2t 2,000 0 2,000
OEX FYlAHS 2,000
—EASLIISH W=H 200,002 * 10 2,000
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401 A& HIZL LY 40,000 0 40,000
= 20,000
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Al 14,000
01 Al &I 39,568 0 39,568
OSSN AUSEHAANE RS
40,000,000€ * 98.92/100 39,568
= 20,000
= 6,000
Al 13,568
03 Al 2CHHI 432 0 432
OSEIFHLASEHAANE RS
40,000,000& = 1.08/100 432
NERoSBHEIAIE AXAIS (X EHASEHE ) ( 1,466,920 0 1,466,920
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= 1,300,000
= 166,920
402 212+ X201 & 1,466,920 0 1,466,920
= 1,300,000
= 166,920
01 BI2t =22 X 1,466,920 0 1,466,920
ONEBELESHeAE(XNEHASEHH)
1,466,920,000& * 1J§ 2 1,466,920
= 1,300,000
= 166,920
HY AP (sM2tF D) (IIEH/IIE 2,074,405 1,893,930 180,475
ol 2HH| 1,914,863 1,740,044 174,819
ol 2 HH| 1,914,863 1,740,044 174,819
101 2124 d| 1,914,863 1,740,044 174,819
03 RIHAZZ N ES 1,914,863 1,740,044 174,819
Ostdilsta oe g 1,884,963
-Jlz2 1,169,750& * 469 = 12& 645,702
A= 1,004,502,000& /12& * 200% 167,417
—&d2sY
1,004,502,000& /128 * 45% * 23| 75,338
—ME e 1,004,502,000& /128 * 250% 209,272
— S22 90,0008 * 46Y = 12& 49,680
—Ngd&EA+E 70,0008 » 46Y * 12& 38,640
— IS4 (WHRAH) 40,0002 = 32H * 128 15,360
—JtE2=<(JIEH 20,000& * 419 = 12& 9,840
—ZHZ Al 160,000& * 469 * 12& 88,320
— S| 140,000 * 46YH » 128 77,280
—JtAHIE 2| 110,000& * 46YH * 128 60,720
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— R 25Jt=Y 69,6563 * 46%H » 15& 48,063
—XEHSH EXY 2,391
nsstu 298,800& = 29 = 43| 2,391
—fge 50,000& = 469 = 12& 27,600
— =g 30,000& = 46%H » 128 16,560
OgZ0l=td =4l 25,300
—-S= 100,000& = 1& * 46H 4,600
—ot= 100,000& = 1& = 46 4,600
—-%9 30,0003 » 1& * 469 1,380
—&gst 50,000& » 1= * 469 2,300
& 50,000& * 1= » 469 2,300
—tE &) 20,000& * 12 » 469 920
—ZSEI 100,000& = 1& » 46 4,600
—2E X 100,0008 = 1% * 469 4,600
OIS AHAMEAH|(SHE ) 4,600
—dEY LTS (MAE 8)
30,000& * 12| » 20€¥ 600
—SgdZdadd 200,000 * 13| = 20H 4,000
Jl=&Hl 159,542 153,886 5,656
| =&l 159,542 153,886 5,656
201 224 30,502 28,766 1,736
01 AtR2tel] 30,502 28,766 1,736
O=SAMEX F&Hl 13,0008 » R2=A » 123 4,992
OEZ20HAHI 5,000& = 64 = 32& * 12& 11,520
Ogtte=rg 100,000& = 123 1,200
OLA2 EA7H 50,000& = 128 600
Oaxnl =4l 10,270
— =AM =2 500,000& + 1.5CH 750
—ZelH =2 100,000 * 6CH * 50/100 300
—=SA| &4 200,000& = 52 » 204 2,000
—O2H(E%) £ 200,0008 * 53] = 6CH 6,000
—PC==cl 100,000& = 31CH * 20/100 620
—JIEt&Hl =eldl 50,000& » 123 600
OJIEt AtR2teld] 5,000& = 32% » 123 1,920
202 O4H| 123,520 119,660 3,860
01 LA 123,520 119,660 3,860
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203 YR FZ Y| 4,320 4,260 60
04 EN2YSREEH| 4,320 4,260 60
ORASgAR=Y) 360,0002 * 128 4,320
204 X243 2| 1,200 1,200 0
JEEEEEESEL 1,200 1,200 0
ONUIHRL B (SMEADY)
100,009 * 1% = 128 1,200
HESS(SMBLD)(BSES/AGHLE - + ) 515,800 340,600 175,200
TESIEPES 515,800 340,600 175,200
TESE D 515,800 340,600 175,200
701 JIEHSI HEE S 515,800 340,600 175,200
01 JIEtEI AT ES 515,800 340,600 175,200
O+BNMSHINHES 515,800
—ZToteHAL Y2 B4
100,000,008 * 14! 100,000
—ZTot4AE BAZA
6,002 * 500m * 107 30,000
—Z2st4aMeIAE JET e
10,000,009 * 1742 10,000
—BToIHAANE H2lF 2l u)
6,250,0002 * 32044 200,000
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3,000,008 * 2304 69,000
—ZToIaMRAAE SAX Al
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= 8,340
Al 82,960
OHES 25 105,100 93,900 1,200
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= 8,340
Al 82,960
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201 YBr2 | 6,500 500 6,000
01 AR 22l 500 500 0
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01 =8l 3,000 1,000 2,000
ORdiOrdES=S LR AL
15,000& = 10&) * 209 3,000
307 2I2toI ™ 4,000 4,000 0
02 Sl2tH a8 =x 4,000 4,000 0
Oftis=s 2L E8s 294 N&
2,000,000& * 2JH X 4,000
402 QIZEX20| M 50,000 50,000 0
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